 Chapter 14 Section One

Vocabulary
Haile Selassie: The Ethiopian King who appealed to the League of Nations for help. 

Rome-Berlin-Tokyo Axis: An alliance of totalitarian countries formed to oppose western democracies and Soviet Communism. 
Guernica: A painting by Pablo Picasso that shows the horrors of the Nazi invasion of Spain. 
Anschluss: The union of Austria and Germany. 
Munich Conference: A September 1938 meeting between Hitler and leaders of France and Great Britain. 
Neville Chamberlain: The British Prime Minister who gave into Hitler’s demands at the Munich conference. 
Nazi-Soviet Pact: A non-aggression treaty signed by Adolf Hitler and Joseph Stalin. 
Sanction: Penalties imposed against a country.  
Appeasement: Giving in to the demands of an aggressor in order to keep the peace. 
Pacifism: Opposition to all war.  
(a) List three acts of Aggression by the Axis powers in the 1930s. (b) How did the western powers respond to each?

1. Japan seized Manchuria in 1931.


2.   Italy invaded Ethiopia in 1935.

3.  Germany annexed the Sudentland in 1938.

(b) The League of Nations condemns the invasion of Manchuria, issues sanctions for the invasion of Ethiopia, and Britain and France allow Hitler to take Czechoslovakia. 

How did the Spanish Civil War become a battleground for competing political forces in the western world?

Hitler and Mussolini supported the Nationalists, while the Soviet Union and some western democracies supported the Loyalists.

(a)Why did the western democracies follow a policy of appeasement? (b) How did the aggressor nations respond to appeasement? 

(a)They feared a repeat of World War One.  Some think that the aggressors are justified, while others are only concerned with avoiding war.  (b)Aggressor nations continue to use military force. 
Chapter 14 Section Two Vocabulary
Phony War: The time period between Hitler’s invasion of Poland and his war with France. 
Dunkirk: A French town from which around 300,000 allied soldiers are brought to safety in Britain, saving them from the Nazi advance. 
Winston Churchill: The new Prime Minister of Great Britain, he replaced Neville Chamberlain. 
Battle of Britain: The fight between Germany’s Luftwaffe, or Air Force, and the Royal Air Force of Great Britain. 
Operation Barbarossa: Hitler’s plan to conquer the Soviet Union. 
Lend-Lease Act: Congress allowed President Roosevelt to sell or lend war materials to our allies. 
Atlantic Charter: Issued by Roosevelt and Churchill, it is an agreement to work together against the Nazis 
Pearl Harbor: The headquarters of the U.S. Pacific fleet attacked by Japan on Dec 7 1941. 
Blitzkrieg: Hitler’s “lightning War”
Ch 14 Section Two Review Questions

How did new technologies make World War two a war of rapid movement?

Air power along with fast moving tanks and troop carriers made World War Two a war of rapid movement

What successes did the Axis have in Europe?

 By 1942, the Axis powers and their allies controlled most of Europe.  German and Italian Armies were pushing back against the British in North Africa.  Japanese forces had overrun British, French, and American possessions in the Pacific and Southeast Asia. 

(a)What goals did Japan pursue in Asia? (b) Why did General Tojo order an attack on the United States?


(a) Japan wanted to conquer China and various Southeast Asian lands so that it could possess the rubber, oil, tin, and other valuable resources that these lands had. (b) Tojo ordered the attack because the U.S. had interfered in Japan’s expansionary plans by imposing trade restrictions.
 Chapter 14 Section Three Vocabulary

Holocaust: The Nazi massacre of more than six million Jewish people 
Auschwitz: A Nazi death camp where the prisoners destroyed one of the gas chambers. 

Greater East Asia Co-Prosperity Sphere: The name given by the Japanese Empire to the land that they took over. 

Battle of El-Alamein: A battle in North Africa where British General Montgomery defeated German General Rommel 
Dwight Eisenhower: The Supreme Commander of Allied Forces. 
Battle of Stalingrad: A battle in Russia where the Soviets defeated the Nazis, costing the Germans 300,000 soldiers 
D-Day: The Allied invasion of Normandy on June 6, 1944. 
Collaborator: Europeans who worked with the Nazis. 
(a) What was Hitler’s “new order” in Europe?  (b) How did the Japanese treat the people they captured?

(a) Only members of the Aryan race were considered worthy of being citizens.  Slavs, Jews, and anyone else considered inferior were sent to work camps or death camps.


(b) Thy treated all conquered people brutally, torturing and killing civilians.  They also burned crops and destroyed towns.
(a)How did democratic governments mobilize their economies for war? (b) How did they limit the rights of citizens?


(a) All economic production was geared toward the war effort, prices and wages were regulated.  (b) They censored the press and used propaganda to influence public opinion. In the U.S. Japanese-Americans were sent to internment camps. 

How was each of the following a turning point in the war?

El Alamein: British gen. Montgomery stopped the German advance in Egypt, then forced the Axis across Libya and into Tunisia, leading to the Nazi surrender.   


Stalingrad: The Germans lost a great number of troops and supplies, leading to the Soviets driving them back to Eastern Europe. 
Chapter 14 Section Four Vocabulary

Battle of the Coral Sea: A Battle in the pacific where the Japanese fleet was badly damaged. 2
Battle of the Bulge: The last offensive of the Nazi Army, won by the Allies. 1
V-E Day: March 7, 1945, the day Germany surrendered. 3
Harry Truman: President of the United States after Franklin Roosevelt died. 5
Kamikaze: Japanese suicide pilots. 4
Chapter 14 Section Four Review Questions
How did the United States bring the war closer to Japan?

The American forces used an “Island hopping” campaign, moving closer and closer to the main Japanese islands. 

(a) How did the Allies weaken Germany? 
Allied ground troops attacked from the East and West while bombing against Germany continued.
(b) Why was the battle of the Bulge significant?
   The counter attack had only limited success, and was Germany’s last attempt to stop the allied advance. 
Chapter 14 Section Five Vocabulary
UN: An international organization set up to secure world peace. 
Iron curtain: A symbol of the Cold War that divided communist eastern Europe from free western Europe. 
Truman Doctrine: A policy that says the United States will oppose the spread of communism anywhere in the world. 
Berlin airlift:  Western allies supplied the democratic zones of Berlin with food and supplies, against the objections of the Soviet Union. 
NATO: North Atlantic Treaty Organization, an alliance of democratic nations. 
Warsaw pact: an alliance of communist nations 
Containment: Limit communism to areas already under Soviet control. 
(a) Describe the condition that total war had created in Europe and Asia after the war. (b) How did the allies try to hold the Axis leaders responsible fort he suffering they caused during the war?


Around 75 million people had died worldwide. Millions of Jewish people and others had been murdered in the Nazi death camps.  (b) The allies held war crimes trials to hold military and political leaders accountable for wartime actions. Those found guilty were imprisoned or executed. 

(a) Who were the superpowers that emerged after World War 2? (b) What were the main differences between them?


(a) The United States and the Soviet Union (b) The US was democratic, the USSR was communist. Both countries wanted their political systems to spread worldwide. 
State Two causes of the Cold War.

Western allies wanted free elections in Eastern Europe, Stalin refused, leading to fear and distrust of the Soviet Union. 

